3 DIGITS

136
184
234
295
357
372
413
448

502
563
629
647
721
821
958
984

4 DIGITS

1268
1848
2187
2531
3021
3197
3479
4310

4756
5492
5619
6193
6970
7085
8653
9324
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5 DIGITS

16297
21603
27013
29160
30719
32476
42990
43201

51438
58522
60686
65859
74385
85234
87544
96721

6 DIGITS

173812
193349
210753
215072
305167
385137
416248
459455

597811
632704
644326
721083
763845
805561
813024
962680

7 DIGITS

1456137
1670289
2791412
2945682
2946451
3145603
3919230
4491817

5172172
5416745
7258012
7322751
7395846
8177231
8646572
9453832

Fit the numbers listed above into the grid below. One number has already been inserted to give you a start.
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FITFIGURE 2 : answers
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